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Attempt SiIX questiony in all.

Question 1 carries 8 marksy,

I. Explain:
{a) Litectron affinity of Nitrogen is Jow.
(b} lce floals on water.

{¢) Which of two. N, or NO. has higher Tonization

eneryy "’

{d) Hybridization in central atom of XeF,. (2x4=8)

1.2

{a) Calculate using slater rules the effective nuclear

charge for 3d & s electrons in Cobalt (7 =27).

POT.O.
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(h; Calculate the bond length of H-F molecule from

the following data

L)

1ay Calcutate the radius ratio for an ionic crystal when

the coerdination number of cation is 3.
{b: Explain why lithium halides do not obey radius
rules. (4,2)
4. ta) Draw the radial probabilitv distribution plot for 2s

& 2p orbitals.

(by Write the Kapustinskil equation for the lattice

energv & explain the various terms, {(4.2) .

th

{a) Write the resonating structures for N,

(b) Explain the order of bond angle in OCI, and H,O.
(3.3)

6. (a) Using VSEPR theory. give the geometry & shapes
of the foltowing 1CI,~. SnCl,.

(by Which of the following is more covalent and

why ?

CuCl or KCi (4.2)
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(a) Which way the following reaction will proceed.

Justify on the basis’ 0 HSAB principle,

2Lil + Col, = Col,+ 2Lk

(b) Which one is a stronger basc and why 7

NH, or PH..

(¢} Explain the strenath of HO W HNO | i water.

(a) Pefinc electronegativity in terms of Pauling &

Mulliken™s seale.

{(by Explain Avidic Basic characier of

Cs-O-H. Cl-O-H. ALO-11. (3.
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